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Notes: Change of Base Formula and Solving Exponential Equations

Do Now: Solve each of the following equations.

1) 32x—1 — 274x—7 2) 1258x+9 = 257x+16
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What Should I Be Able to Do?

- I can use the change of base formula to evaluate any logarithm.
- I can mathematically show how to obtain the change of base formula for any logarithm.

- I can solve exponential equations without getting common bases.
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Solve, rounding your answer to the nearest thousandth:
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Solve:

14* =29

(Hmt Try to do the inverse operation of an exponential to both sides of the equation)
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If you are using common logarithms for the change of base formula:

Solve each of the following:

1) 5% — 4
HICIE
KP"—'

2) 44* =213 | AU=X 3)e* = 1024
l‘Ju ¢ ‘“fx. %If’-? [

Rewrite each of the following logarithiis using the Change of Base Formula, then round to the nearest thousandth.

4) log, 6 5)log112
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Solve the following exponential equations
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Success Crite

- I can use the change of base formula to evaluate any logarithm.
Rewrite each of the following logarithms using the Change of Base Formula, then round to the nearest hundredth.
1) log1 9 2) log, 15 3) logg, 31
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- I can mathematically show how to obtain the change of base formula for any logarithm.

Explain how you can solve 6* = 19 to prove the change of base formula.
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- I can solve exponential equations without getting common bases.
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Name: Date:

Classwork: Change of Base Formula and Solving Exponential Equations

Rewrite each of the following logarithms using the Change of Base Formula, then round to the nearest hundredth.
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each of the following exponential equation:
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